



Vendor Ranking

Letting: CT260128 January 28, 2026 10:30 AM **Call Order:** 006 **Contract:** T3954
District: District 3 **Counties:** ESCAMBIA **Fed Aid No:** D325042B
Contract Time: 500 AVAILABLE DAYS **Project(s):** 44905415201 (*)
Contract Desc: KLONDIKE RD OVER UNNAMED BRANCH BRIDGE NO 484060

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MURPHREE BRIDGE CORPORATION	Responsive	Winning bid	\$2,666,434.59	100.00%
2	F & W CONSTRUCTION COMPANY, INC.	Responsive	Non-Winning Bid	\$2,706,898.90	101.52%
3	RJ GORMAN CONTRACTING LLC	Responsive	Non-Winning Bid	\$3,505,088.07	131.45%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: CT260128 January 28, 2026 **Call Order:** 006 **Contract:** T3954
District: District 3 **Counties:** ESCAMBIA **Fed Aid No:** D325042B
Contract Time: 500 AVAILABLE DAYS **Project(s):** 44905415201 (*)
Contract Descr: KLONDIKE RD OVER UNNAMED BRANCH BRIDGE NO 484060

The Improvements under this Contract consist of 449054-1-52-01 Bridge Replacement for Klondike Rd over Unnamed Branch Bridge No 484060 in Escambia County, including roadway approach rehabilitation, signing and marking, drainage, and a special detour.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MURPHREE BRIDGE CORPORATION		(2) F & W CONSTRUCTION COMPANY, INC.		(3) RJ GORMAN CONTRACTING LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Structures								
0005 0110 3 REMOVAL OF EXISTING STRUCTURES/BRIDGES 44905415201		(830.000) SF (LS)	37,000.00000	37,000.00	163,000.00000	163,000.00	48,000.00000	48,000.00
0010 0400 2 10 CONCRETE CLASS II, APPROACH SLABS		62.100 CY	1,200.00000	74,520.00	700.00000	43,470.00	1,000.00000	62,100.00
0015 0400 2 47 CONCRETE CLASS II, CAST-IN-PLACE TOPPING WITH SHRINKAGE REDUCING ADMIXTURE		68.400 CY	1,800.00000	123,120.00	850.00000	58,140.00	1,468.00000	100,411.20
0020 0400 4 5 CONCRETE CLASS IV, BRIDGE SUBSTRUCTURE		32.800 CY	3,500.00000	114,800.00	700.00000	22,960.00	1,610.00000	52,808.00
0025 0400 7 1 BRIDGE DECK GROOVING		256.000 SY	9.00000	2,304.00	25.00000	6,400.00	15.00000	3,840.00
0030 0400148 PLAIN NEOPRENE BEARING PADS		3.300 CF	1,800.00000	5,940.00	5,000.00000	16,500.00	2,300.00000	7,590.00
0035 0415 1 4 REINFORCING STEEL - BRIDGE SUPERSTRUCTURE		15,005.000 LB	1.60000	24,008.00	2.50000	37,512.50	1.73000	25,958.65



Tabulation of Bids

Letting: CT260128 January 28, 2026

Call Order: 006

Contract: T3954

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MURPHREE BRIDGE CORPORATION		(2) F & W CONSTRUCTION COMPANY, INC.		(3) RJ GORMAN CONTRACTING LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Structures								
0040 0415 1 5 REINFORCING STEEL- BRIDGE SUBSTRUCTURE		5,396.000 LB	1.60000	8,633.60	2.50000	13,490.00	1.73000	9,335.08
0045 0415 1 9 REINFORCING STEEL- APPROACH SLABS		11,358.000 LB	1.60000	18,172.80	2.50000	28,395.00	1.73000	19,649.34
0050 0450 8 33 PRESTRESSED BEAM: FLORIDA SLAB BEAM, BEAM DEPTH 18" CARBON STEEL, WIDTH 55-57"		469.000 LF	600.00000	281,400.00	350.00000	164,150.00	475.00000	222,775.00
0053 0455 20 1 PILE INSPECTION, DRIVEN PILE		10.000 EA	650.00000	6,500.00	10,000.00000	100,000.00	950.00000	9,500.00
0055 0455 34 3 PRESTRESSED CONCRETE PILING, 18" SQ		456.000 LF	265.00000	120,840.00	65.00000	29,640.00	220.00000	100,320.00
0057 0455115 PILE REDRIVE		2.000 EA	4,750.00000	9,500.00	10,000.00000	20,000.00	3,700.00000	7,400.00
0058 0455137 LOAD TEST (DYNAMIC), DATA COLLECTION AND ANALYSIS		12.000 EA	1,000.00000	12,000.00	10,000.00000	120,000.00	1,250.00000	15,000.00
0059 0455137 2 LOAD TEST (DYNAMIC), VERIFICATION TEST		2.000 EA	500.00000	1,000.00	10,000.00000	20,000.00	3,800.00000	7,600.00



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 006 Contract: T3954

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) MURPHREE BRIDGE CORPORATION		(2) F & W CONSTRUCTION COMPANY, INC.		(3) RJ GORMAN CONTRACTING LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Structures								
0060 0455143 3 TEST PILES-PRESTRESSED CONCRETE,18" SQ		144.000 LF	380.00000	54,720.00	400.00000	57,600.00	265.00000	38,160.00
0065 0458 1 11 BRIDGE DECK EXPANSION JOINT, NEW CONSTRUCTION, F&I POURED JOINT WITH BACKER ROD		78.000 LF	75.00000	5,850.00	50.00000	3,900.00	110.00000	8,580.00
0070 0521 5 13 CONCRETE TRAFFIC RAILING- BRIDGE, 36" SINGLE-SLOPE		200.000 LF	185.00000	37,000.00	350.00000	70,000.00	520.00000	104,000.00
0075 0530 1100 RIPRAP, SAND-CEMENT BAGS		20.000 CY	1,400.00000	28,000.00	2,250.00000	45,000.00	850.00000	17,000.00
0080 0530 3 3 RIPRAP- RUBBLE, BANK AND SHORE		727.400 TN	140.00000	101,836.00	100.00000	72,740.00	160.00000	116,384.00
0085 0530 74 BEDDING STONE		259.000 TN	146.00000	37,814.00	90.00000	23,310.00	145.00000	37,555.00
0090 0630 2 16 CONDUIT, FURNISH & INSTALL, EMBEDDED CONCRETE BARRIERS AND TRAFFIC RAILINGS		407.000 LF	20.00000	8,140.00	10.00000	4,070.00	20.00000	8,140.00
0095 0635 3 13 JUNCTION BOX, FURNISH & INSTALL, EMBEDDED		8.000 EA	900.00000	7,200.00	300.00000	2,400.00	2,000.00000	16,000.00



Tabulation of Bids

Letting: CT260128 January 28, 2026

Call Order: 006

Contract: T3954

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MURPHREE BRIDGE CORPORATION		(2) F & W CONSTRUCTION COMPANY, INC.		(3) RJ GORMAN CONTRACTING LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Structures								
0001 Structures Section Totals:			\$1,120,298.40		\$1,122,677.50		\$1,038,106.27	
SECTION: 0002 Roadway								
0100 0101 1 MOBILIZATION 44905415201		(1.000) LS	273,578.28000	273,578.28	250,000.00000	250,000.00	500,000.00000	500,000.00
0105 0102 1 MAINTENANCE OF TRAFFIC 44905415201		(500.000) DA (LS)	42,500.00000	42,500.00	22,481.00000	22,481.00	45,000.00000	45,000.00
0110 0102 2200 SPECIAL DETOUR- TEMPORARY PAVEMENT 44905415201		(1699.000) SY (LS)	110,500.00000	110,500.00	28,841.07000	28,841.07	45,000.00000	45,000.00
0115 0102 2300 SPECIAL DETOUR- TEMPORARY EARTHWORK/BASE 44905415201		(1527.000) CY (LS)	126,400.00000	126,400.00	93,588.91000	93,588.91	255,000.00000	255,000.00
0120 0102 2400 SPECIAL DETOUR- TEMPORARY BRIDGE 44905415201		(1.000) EA (LS)	401,078.00000	401,078.00	550,000.00000	550,000.00	670,000.00000	670,000.00
0125 0102 3 COMMERCIAL MATERIAL FOR TEMPORARY DRIVEWAY MAINTENANCE		27.500 CY	147.65000	4,060.38	126.95000	3,491.13	320.00000	8,800.00
0130 0102 60 WORK ZONE SIGN		10,970.000 ED	0.35000	3,839.50	0.35000	3,839.50	0.50000	5,485.00



Tabulation of Bids

Letting: CT260128 January 28, 2026

Call Order: 006

Contract: T3954

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MURPHREE BRIDGE CORPORATION		(2) F & W CONSTRUCTION COMPANY, INC.		(3) RJ GORMAN CONTRACTING LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Roadway								
0135 0102 71 15 TEMPORARY BARRIER, F&I, ANCHORED		590.000 LF	65.00000	38,350.00	95.53000	56,362.70	78.00000	46,020.00
0140 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD		37,712.000 ED	0.15000	5,656.80	0.15000	5,656.80	0.20000	7,542.40
0145 0102 89 1 TEMPORARY CRASH CUSHION, REDIRECTIVE OPTION		4.000 LO	3,000.00000	12,000.00	3,000.00000	12,000.00	2,000.00000	8,000.00
0150 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		1,028.000 ED	25.00000	25,700.00	25.00000	25,700.00	25.00000	25,700.00
0155 0102115 TYPE III BARRICADE		2,560.000 ED	0.55000	1,408.00	0.55000	1,408.00	1.00000	2,560.00
0160 0104 1 ARTIFICIAL COVERINGS /ROLLED EROSION CONTROL PRODUCTS		548.000 SY	16.00000	8,768.00	4.51000	2,471.48	14.00000	7,672.00
0165 0104 6 TEMPORARY SLOPE DRAIN / RUNOFF CONTROL STRUCTURE		73.000 LF	135.50000	9,891.50	68.21000	4,979.33	75.00000	5,475.00
0170 0104 10 3 SEDIMENT BARRIER		883.000 LF	9.80000	8,653.40	7.53000	6,648.99	3.00000	2,649.00
0175 0104 15 SOIL TRACKING PREVENTION DEVICE		2.000 EA	7,700.00000	15,400.00	4,365.03000	8,730.06	8,250.00000	16,500.00



Tabulation of Bids

Letting: CT260128 January 28, 2026

Call Order: 006

Contract: T3954

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MURPHREE BRIDGE CORPORATION		(2) F & W CONSTRUCTION COMPANY, INC.		(3) RJ GORMAN CONTRACTING LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Roadway								
0180 0108 1 MONITOR EXISTING STRUCTURES- INSPECTION AND SETTLEMENT MONITORING 44905415201		(1.000) LS	12,500.00000	12,500.00	35,000.00000	35,000.00	22,000.00000	22,000.00
0185 0108 2 MONITOR EXISTING STRUCTURES- VIBRATION MONITORING 44905415201		(1.000) LS	20,000.00000	20,000.00	36,000.00000	36,000.00	22,000.00000	22,000.00
0190 0110 1 1 CLEARING & GRUBBING 44905415201		(1.640) AC (LS)	25,675.00000	25,675.00	73,575.18000	73,575.18	50,000.00000	50,000.00
0195 0110 4 10 REMOVAL OF EXISTING CONCRETE		278.000 SY	25.00000	6,950.00	16.09000	4,473.02	58.00000	16,124.00
0200 0110 7 1 MAILBOX, F&I SINGLE		10.000 EA	900.00000	9,000.00	277.00000	2,770.00	350.00000	3,500.00
0205 0120 1 REGULAR EXCAVATION		1,578.100 CY	16.00000	25,249.60	14.76000	23,292.76	50.00000	78,905.00
0210 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE		530.200 CY	33.80000	17,920.76	33.53000	17,777.61	62.00000	32,872.40
0215 0160 4 TYPE B STABILIZATION		2,862.000 SY	7.25000	20,749.50	8.68000	24,842.16	26.00000	74,412.00



Tabulation of Bids

Letting: CT260128 January 28, 2026

Call Order: 006

Contract: T3954

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MURPHREE BRIDGE CORPORATION		(2) F & W CONSTRUCTION COMPANY, INC.		(3) RJ GORMAN CONTRACTING LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Roadway								
0220 0285701 OPTIONAL BASE, BASE GROUP 01		1,011.000 SY	26.50000	26,791.50	24.72000	24,991.92	47.00000	47,517.00
0225 0285706 OPTIONAL BASE, BASE GROUP 06		459.000 SY	51.20000	23,500.80	54.66000	25,088.94	72.00000	33,048.00
0230 0327 70 6 MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH		1,365.000 SY	10.00000	13,650.00	4.35000	5,937.75	11.00000	15,015.00
0235 0334 1 52 SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B, PG76-22		43.100 TN	326.00000	14,050.60	182.16000	7,851.10	520.00000	22,412.00
0240 0337 7 81 ASPHALT CONCRETE FRICTION COURSE, TRAFFIC B, FC-12.5, PG 76-22		207.000 TN	255.00000	52,785.00	201.63000	41,737.41	345.00000	71,415.00
0245 0339 1 MISCELLANEOUS ASPHALT PAVEMENT		16.800 TN	365.00000	6,132.00	418.32000	7,027.78	720.00000	12,096.00
0250 0430174118 PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 18"SD		38.000 LF	161.00000	6,118.00	144.23000	5,480.74	430.00000	16,340.00
0255 0430174215 PIPE CULVERT, OPTIONAL MATERIAL, OTHER SHAPE - ELLIP/ARCH, 15"SD		65.000 LF	140.00000	9,100.00	142.57000	9,267.05	375.00000	24,375.00
0260 0430984125 MITERED END SECTION, OPTIONAL ROUND, 18" SD		4.000 EA	2,750.00000	11,000.00	2,671.82000	10,687.28	3,700.00000	14,800.00



Tabulation of Bids

Letting: CT260128 January 28, 2026

Call Order: 006

Contract: T3954

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MURPHREE BRIDGE CORPORATION		(2) F & W CONSTRUCTION COMPANY, INC.		(3) RJ GORMAN CONTRACTING LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Roadway								
0265 0430984623 MITERED END SECTION, OPTIONAL OTHER - ELLIP/ARCH, 15" SD		8.000 EA	2,750.00000	22,000.00	2,670.36000	21,362.88	4,090.00000	32,720.00
0270 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK		174.000 SY	138.50000	24,099.00	92.75000	16,138.50	250.00000	43,500.00
0275 0524 1 2 CONCRETE DITCH PAVEMENT, NON REINFORCED, 4"		177.000 SY	127.35000	22,540.95	180.65000	31,975.05	175.00000	30,975.00
0280 0530 3 4 RIPRAP, RUBBLE, F&I, DITCH LINING		3.000 TN	515.00000	1,545.00	363.74000	1,091.22	1,300.00000	3,900.00
0285 0536 1 0 GUARDRAIL -ROADWAY, GENERAL/LOW SPEED TL-2		319.000 LF	22.00000	7,018.00	22.00000	7,018.00	38.00000	12,122.00
0290 0536 8111 GUARDRAIL TRANSITION CONNECTION TO RIGID BARRIER, F&I- INDEX 536- 001, APPROACH TL-2		2.000 EA	2,200.00000	4,400.00	2,200.00000	4,400.00	4,500.00000	9,000.00
0295 0536 8113 GUARDRAIL TRANSITION CONNECTION TO RIGID BARRIER, F&I- INDEX 536- 001, TRAILING		2.000 EA	2,200.00000	4,400.00	2,200.00000	4,400.00	4,550.00000	9,100.00
0300 0536 73 GUARDRAIL REMOVAL		102.000 LF	2.00000	204.00	2.00000	204.00	3.50000	357.00



Tabulation of Bids

Letting: CT260128 January 28, 2026

Call Order: 006

Contract: T3954

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MURPHREE BRIDGE CORPORATION		(2) F & W CONSTRUCTION COMPANY, INC.		(3) RJ GORMAN CONTRACTING LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Roadway								
0305 0536 85 20 GUARDRAIL END TREATMENT- TRAILING ANCHORAGE		2.000 EA	2,000.00000	4,000.00	2,000.00000	4,000.00	1,600.00000	3,200.00
0310 0536 85 24 GUARDRAIL END TREATMENT- PARALLEL APPROACH TERMINAL		1.000 EA	3,000.00000	3,000.00	3,000.00000	3,000.00	4,100.00000	4,100.00
0315 0536 85 26 GUARDRAIL END TREATMENT- TYPE CRT		1.000 EA	4,500.00000	4,500.00	4,500.00000	4,500.00	4,500.00000	4,500.00
0320 0570 1 2 PERFORMANCE TURF, SOD		7,464.000 SY	6.25000	46,650.00	3.07000	22,914.48	8.00000	59,712.00
0325 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		692.000 EA	5.25000	3,633.00	10.00000	6,920.00	6.50000	4,498.00
0330 0710 11101 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"		0.327 GM	2,625.00000	858.38	8,900.00000	2,910.30	2,000.00000	654.00
0335 0710 11201 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"		0.327 GM	2,625.00000	858.38	8,900.00000	2,910.30	2,000.00000	654.00
0002 Roadway Section Totals:				\$1,538,663.33		\$1,565,744.40		\$2,427,226.80



Tabulation of Bids

Letting: CT260128 January 28, 2026

Call Order: 006

Contract: T3954

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) MURPHREE BRIDGE CORPORATION		(2) F & W CONSTRUCTION COMPANY, INC.		(3) RJ GORMAN CONTRACTING LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Signing								
0340 0700 1500 SINGLE COLUMN GROUND SIGN ASSEMBLY, RELOCATE		1.000 EA	105.00000	105.00	180.00000	180.00	300.00000	300.00
0345 0700 1600 SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE		2.000 EA	63.00000	126.00	100.00000	200.00	250.00000	500.00
0350 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		33.000 EA	5.25000	173.25	10.00000	330.00	8.00000	264.00
0355 0710 90 PAINTED PAVEMENT MARKINGS, FINAL SURFACE 44905415201		(1.000) LS	1,575.00000	1,575.00	5,000.00000	5,000.00	33,000.00000	33,000.00
0360 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"		0.329 GM	5,775.00000	1,899.98	13,000.00000	4,277.00	8,000.00000	2,632.00
0365 0711 16201 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"		0.062 GM	15,750.00000	976.50	30,000.00000	1,860.00	8,000.00000	496.00
0370 0711 16231 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SKIP, 6"		0.165 GM	3,675.00000	606.38	11,000.00000	1,815.00	3,400.00000	561.00
0375 0713103101 PERMANENT TAPE, WHITE, SOLID, 6" FOR CONCRETE BRIDGES		0.023 GM	47,250.00000	1,086.75	85,000.00000	1,955.00	44,000.00000	1,012.00
0380 0713103201 PERMANENT TAPE, YELLOW, SOLID, 6" FOR CONCRETE BRIDGES		0.011 GM	57,750.00000	635.25	140,000.00000	1,540.00	45,000.00000	495.00



Tabulation of Bids

Letting: CT260128 January 28, 2026 Call Order: 006 Contract: T3954

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) MURPHREE BRIDGE CORPORATION		(2) F & W CONSTRUCTION COMPANY, INC.		(3) RJ GORMAN CONTRACTING LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Signing								
0385 0713103281 PERMANENT TAPE, YELLOW, 10-30 SKIP, 6" WIDE, FOR CONCRETE SURFACES		0.011 GM	26,250.00000	288.75	120,000.00000	1,320.00	45,000.00000	495.00
0003 Signing Section Totals:				\$7,472.86		\$18,477.00		\$39,755.00
Contract Grand Totals:				\$2,666,434.59		\$2,706,898.90		3,505,088.07



Tabulation of Bids

Letting: CT260128 January 28, 2026 **Call Order:** 006 **Contract:** T3954

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

Certified in accordance with Code of Federal Regulations Title 23, Chapter 1, Subchapter G, Subsection 635.113(b).

A Mirza Rezaadeh

02/10/2026

Manager, Contracts Administration Office